
General Relativity HW 3 Quiz                 Name______________ 

 

You are welcome to try both problems below, but you will only receive credit for the most correct 

problem.   

1. (10pts) Given Tஜ஥ൌ൭
1 2 െ1
െ2 1 1
െ1 1 1

൱ in a space with metric  ݃ஜ஥ൌ൭
െ1 0 0
0 1/2 0
0 0 1/2

൱, determine 

the components of ܶሾஜ஥ሿ. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

2.  (10pts) Given Fஜ஥ൌ

ۉ

ۈ
ۇ
0 െܧ௫
௫ܧ 0

െܧ௬ െܧ௭
௭ܤ െܤ௬

௬ܧ െܤ௭
௭ܧ ௬ܤ

0 ௫ܤ
െܤ௫ 0

ی

ۋ
ۊ
 show that  ఓ߲ܨఔఓ ൌ ఔܬ ఔwhereܬ ൌ ሺߩ, ,௫ܬ ,௬ܬ  ௭ሻܬ

implies that ׏ሬሬԦ ∙ ሬԦܧ ൌ  .ߩ
 

 

 

 

 

 


